HENEREREES i
SHM5F10H25H (K)

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 228 N7~ 254.9 360 93
<t/ 4,714.8 89 40
RXAIH LA 25.8 1,400 230
JUH LA 61.9 941 39
LEHLA 270.4 546 70
FHELS LA 307.5 1,256 300
=FHLA 771.9 429 21
<AOLA 216.6 898 201
HNSAHLA 97.6 56 25
<55 145.4 239 20
VAXTY 2,313.0 2,279 222
TIAITAF A 228.2 400 36
F+77>39 2,114.6 660 101
HFHS 32.0 89 33
TISHATH 49.6 150 20
ALY 40.2 6,020 460
HH=AHA 155.5 54 20
IAXPHHT 439.0 1,356 20
ThH= 53.9 6,000 200
TYRSERF 63.2 411 111
510 hF)A 99.8 559 100
AILAA D 1,637.8 740 369
14,093.6




[fi¥fa) ( BEfT @ kg )
TRETRAE sSiEg H =2 = 1B Z & M =
S 228 ZILAA FI58 460.0 6,666 3,359 |n o
TUAH 5,757.8 820 180
UL H5E 115.0 4,929 2,240 ﬁfm/s
1 c/s
rHE47 4,023.6 880 39

WAERME AHNE

24,450.0




(B : kg)

§::322)
PEE S fiEY B E = fE 7 fE " &
BEEXRE 88E |NI77> 57.8 678 51
Y 2,119.8 400 89
ESX 38.4 2,359 689
*OoF 24.7 319 190
XA 70.5 1,000 135
FIA 37.3 398 30
HFH>S 73.3 189 40
>0OX/)Ulb 115.3 2,229 1,490
o> 78.4 2,290 890
RAXF 490.0 1,080 499
dEZHAN 46.6 139 50
FFOA 460.7 3,339 830
RORD 309.2 1,119 39
N bS5 A 75.0 509 26
HY= 71.4 1,400 269
B 7€ 2)\HA 2,373.0 700 300
ne 68 EXTVYMRS 32.3 100
EEHRE 1% JyY 158.9 50 30
FFIA 54.5 1,500 150
NBliy SEHEE 6,687.1




(B : kg)

[i&f]
pHE i miEH B = = 1B Z 1B " =
BEERRHE 88% (TU 44.0 80
ESX 516.0 2,500 600
ASHLA 22.1 1,500 1,000
<A 98.9 2,000 400
R+ 270.3 900 800
LB 26% <7+ 22.6 2,500 1,000
NS0 790.9 4,800 1,800
Ui 1% AXF 24.3 700
g0 25% ESX 383.5 2,700 1,000
e 6% <43 511.4 2,000 1,000
EEM 1 RZF 38.5 850 500
aitiE 2,722.5




